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1 ESTIMATING AND COSTING OF CIVIL ENGINEERING PROJECTS (LECTURED BY: Engr. WASEEM RAJA)
2 Top width of an embankment is 2m. Side Slope on both sides of this bank is 2:1. Levels of top surface of this bank is fo be 250 m, Natural Surface Level at
3 30 minterval are given below. Workout the quantity of earth work for this embank it ding to Mean Depth Method.
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8 Breadth at the Top of Bank =8B = 2 m A f Cenfr

a Side Slope on Each Side =s = 2:1 =2 s= 201/ o sl ig N 24

10 Length of Each Section (Interval] = L = 30 m sd/. sd'/:

11 Top Level =1 = 25000 m

12 Depth or Height of Bank =d = TL-NSL Area of Sides = sd¥/2 + sd?/2 = 25d%/2 = sd?

13 Total Area = Area of Cenrre + Area of Sides = Bd + sd?

14 EARTH WORK OF ROAD EMBANKMENT BY MEAN DEPTH METHOD

15 Mean Centre | Areaof tengthof | Each

16 diaioaor| Top Level [Depth (D) Depih (d) [AC] _|Sides (AS] |Total Area|  Eqen Section

17 Choinage| NSL T D =TL-NSL| dme(D,*D;)/2| AC=Bxd |AS=Sxd’| A= AC+AS [Section (I)| Q=AxL
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! Total Quantity of Earth Work =
3D View of Embankment
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